P-1 (1+1+1) G /20 (N)
2020
GEOGRAPHY (General)
Paper:1-A & B
(Physical Geography)
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : Il |A|& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 15 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. What is the density of oceanic crust of the earth?
(A) Around 2.35-2.55 g/cm?
(B) Around 2.45-2.65 g/cm?
(C) Around 2.15-2.35 g/cm?
(D) Around 2.70-2.80 g/cm?

S | MR O qg IO ?
(A) 2T 2.9¢-3.¢e 2N/TTEAMN
(B) &R 2.8¢-2.9¢ &/
(C) AT 2.5¢-2.9¢ AN/
(D) 9 2.90-3.b0 &N/T N

2. According to Wegner the continents like North America, Europe, North and
Mid-Asia combinedly built —

(A) Pangea
(B) Panthalasa
(C) Gondwana
(D) Lorasia

3| STEIER MO—8E IEEH, BRI, Ted @ N1y Al g 1o I —
(A) iR
(B) “ierteti
(C) ANSAMAETTS

(D) =Tl
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3. Which part of the interior of the earth is called as NIFE?
(A) Sial
(B) Core
(C) Sima
(D) Mantle

o | AT SreyEIeR (@I wi* fF (NIFE) e #Afifbo?
(A) Pr=
(B) (e
(C) P
(D) BTN

4. Which of the following kind of rock majorly composed the asthenosphere?
(A) Pegmatite
(B) Peridotite
(C) Biotite
(D) Granite

8 | gxie (I & - SyPTAtitERE afde 2
(A) Co9IIGIRE
(B) CoIRITTiGEs
(C) ARG
(D) elf+iZ5
5. The mean temperature of the core of the earth is about —
(A) 2000°C
(B) 5000°C
(C) 6000°C
(D) 4000°C
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| R (FHASTER 9T Ol o —
(A) R000° (3.
(B) €ooo® (.
(C) vooo° (7.
(D) 8000° (.

6. Which is not the endogenetic force —
(A) Erosion
(B) Fault

(C) Compression
(D) All of these

v| 057 @I rexete *if@ (Endogenetic Force) w132
(A) =
(B) pfe
(C) T ¢ o1 B
(D) TAET 7RI
7. How many minor plates have been identified so far?
(A) 26
B) 23
(C) 20
(D) 15
9| AR FOYCE FUA® (Minor Plates) J0& 23 (902 2
(A) 20
(B) 29
(€) =0
(D) >e
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8. Snow line at lowest height is majorly found in —
(A) Equatorial region
(B) Polar regions
(C) Mid latitudes
(D) None of the above

v | N Sweo G @4l (Snow line) 2dIwS (Wl A —
(A) TG S
(B) (3F SI=eCeT
(C) Wy SHISe]
(D) THATF (DB 717

9. Running water landforms are also known as —
(A) Coastal landforms
(B) Fluvial landforms
(C) Arid landforms
(D) Glacier landforms

> | SRIE TRl ARl 1T SR SRS Je 7 —

(A) (FEOIE TGS

(B) Flwae o
(C) «fT s
(D) 2P sl
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10. The concept of geomorphic cycle of erosion was postulated by —
(A) W. Penck
(B) King
(C) Crikmay
(D) W. M. Davis
vo | gfimmel wavcaa aRenfs facaferem —
(A) ©gC. (7=
B)
(C) TR

(D) TS, @3 (Tfen

11. Landforms not associated with wind erosion —
(A) Dunes
(B) Zeugen
(C) Yardang
(D) None of these

>y | [0Na (@I Shreils JIga e T 8 T8 —
(a) fogm
(B) LA
(C) Z=mI
(D) Ttz (HICAIDE =
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12. Which river does not make George?
(A) Narmada
(B) Chamble
(C) Mahanadi
(D) Subarnarekha

S3 | (I TR ©OF @IIEAE &6t (Gorge) (O FCAN 2
(A) @l
(B) o=
(C) W=t
(D) “fefca=
13. The earthquake prone zones of India have been divided into —
(A) 2 zones
(B) 3 zones
(C) 4 zones
(D) 6 zones

59 | OIS Phieige Sesles (6 T ot elel a1 20" —
(A) T @it
(B) % @it
(C) s wital
(D) T Sital
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14. Name the branch of science which discusses about ‘earthquake’ —

(A) Pedology

(B) Geology
(C) Edafology

(D) Seismology

>8 | R@itaa @ =i g™l (earthquake) RACT SNCeTBal B0 —
(A) CoiTErEe
(B) Tereste
(C) GeIzle
(D) FrrcseTeE
15. Which of the following is not an example of igneous rock?
(A) Shale
(B) Dolerite
(C) Basalt
(D) Riolite
se | oA @I @0 =NeeE Fens Snigge e
(A) (et
(B) CeI=Ilzs
(C) T
(D) FICA=TZE
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P-1 (1+1+1) G /20 (N)

2020
GEOGRAPHY (General)
Paper:1-B

(Physical Geography)
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - 1

Answer any fwo questions.

1. Discuss the concept of ‘cycle of rocks’ with appropriate illustration. Shortly
explain the influence of rocks on various landforms and topography of the planet
earth. 5+5=10

2. Discuss the natural and manmade causes of earthquake. What are consequences
of earthquake?—explain. 6+4=10

3. Give a detail explanation, with suitable diagrams, about the landforms sculptured

by erosional works of glacier. 10
4. With suitable diagram, discuss about the interior of the earth in details. 10
Section - II

Answer any three questions. 5x3=15

5. Write short note on bio-physical weathering, 5
6. What are the bases of Continental Drift Theory? 5
7. Write short note on hydrological cycle. 5
8. Distinguish between weathering and erosion. 5
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9. Make short notes on ‘river meander’ and ‘river island’. 2.5+2.5=5

10. Write down the merits of Supernova hypothesis. 5

AW
e - 5
@ (A ¥ G e Al |

S| Ty oo ‘Fems e «Rdlils sien w1 SRS oo [fen wm il

@ G-2FS Mot AR SR FCHCo T 7G| e+e=50
2| SRR T widl [fen apfes g3k welihor FRedefr Sitepa 39|
SR el & 5 — e e | vt+g=s0
o | fERItEs 9 FteE w0 oifFe shimelslem Soige oz Reifte S
5| so
8 | A Hepiz 7R SISTSC [V FIF SN 3 | o
et -
@ @Il Toafb eitaw Tex wis |
¢ | e SREREE TE G GRel (@12 | @
b | W2 oW (Continental Drift Theory)-@3 fefeafer & 52 @
| GET-bE FCE ACFCA G BIPl (T | ¢
b | SRR @ -G 2L el 9 @
S| FCHCA - @ AI-als’ TATE B (@74 | 2.6+3.¢
So | ANl o9 (Supernova hypothesis)-E< el @7 @
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P-1 (1+1+1) G /20 (N)
2020
GEOGRAPHY (General)
Paper Code : I1 - A & B
(Climatology & Bio-Geography)
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : Il |A|& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 15 Time
Choose the correct answer.

Each question carries 1 mark.

1. The lowest temperature of atmosphere is —

(A) — 75°C
B) — 72°C
(C) — 80°C

(D) None of these

> | #JfRSIR ARNSTER AT wlofIa —
(A) —ae°® (.
(B) —4x° @
(C) —vo° (.
(D) Tt (DR 7
2. Which is the main culprits of ozone layer destruction?
(A) CFCs

(B) Oxygen
(C) Carbon dioxide

(D) None of these

3| O (@I 0T STE WR-9F HEE G A2
(A) CECs
(B) wifsier
(C) I T2 sz
(D) THATF (DB 7

: Thirty Minutes
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3. Which gas is known as green house gas?
(A) Oxygen
(B) Carbon dioxide
(C) Hydrogen
(D) Nitrogen
o | ST @I 0 8w =i e |ies AAfiibe 2
(A) =S
(B) I T w3izT
(C) 2irgItE=
(D) ZCGTE=
4. The ‘Normal Lapse Rate’ of the earth’s atmosphere is —
(A) 5.0°C per 1000 m
(B) 6.5°C per 1000 m
(C) 6.0°C per 1000 m
(D) None of these

8 | #jfed AgNGER et FiF &5 (Normal Lapse Rate) —
(A) ¢.0° (. &fe vooo .
(B) v.¢° (. gfe Sooo f.
(C) v.0° (7. &fe sooo fil.
(D) Ttz (AT =

5. The name of the lowest layer of earth’s atmosphere —
(A) Mesosphere
(B) Exosphere
(C) Stratosphere

(D) Troposphere
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@ | ST ISR T BT AN —
(A) CAIFFIR
(B) @i
(C) >oreoiFeraE
(D) @I
6. Air pressure is measured by —
(A) Anemometer
(B) Planimeter
(C) Barometer
(D) Hygrometer
Y| AR AP JCFS 9N —
(A) SfNCNGE
(B) #ffor
(C) ARG
(D) ziErenfidE
7. Monsoons are —
(A) Seasonal wind
(B) Westerly wind
(C) Permanent wind
(D) Temporary wind
A1 PR Y WA —
(A) s A
(B) AR AR
(C) 7 <1y
(D) orEd <
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8. Mediterranean type of climate is indicated by the Koppen’s symbol —
(A) CW
(B) Aq
© C;
D) G
b | RGN (@A TORPIE RPN iy -4 2T —
A) CW
(B) Aq
© C;
D) Cg
9. Which of the following is the prime basis of Koppen’s climatic classification?
(A) Cloudiness and Winds
(B) Temperature and Winds

(C) Temperature and Precipitation
(D) Precipitation and Natural Vegetation

5| [T @D (@A SRR (@ARele-ax daE fofer
(A) CTIPRTST € AR
(B) Sl7EI@l @ PR
(C) Slo Al @ JHETm=iol
(D) Sl & I

10. The standard air pressure at the sea level is —
(A) 1008 Milibar
(B) 1013.25 Milibar
(C) 1002 Milibar

(D) 998 Milibar
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S0 | FE 7Ty (18) S ARBICAT Al —
(A) Soob filferdld
(B) sove.x¢ fiferE
(C) soox ffer™
(D) sv fferE

11. Doldrums Belt is the region of —
(A) Low pressure and clam condition
(B) High pressure and strong winds

(C) Moderate pressure
(D) None of the above
S| (OGN To73 Al SEHAT PG (T AP T ©f 7o —
(A) 75 IRplRe a3k 9 agfeq
(B) T IPIRE GR 2@ ARERILIE
(C) T IS
(D) Tt (PIAIGE AT 7
12. Which of the following is not related to formation of soil?
(A) Climate
(B) Parent rock
(C) Time
(D) Construction works

>3 | fess (I Sotmiais Sfewrs a1t wfte w2

(A) ST
(B) =i frer
(C)

(D) fesfiel prfi<ett
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13. Generally in which type of soil standard soil horizon is seen?
(A) Charnozem soil
(B) Loess soil
(C) Alluvial soil
(D) Bog soil

S0 | RS (FIN o e ol e w7 Al 271z (vl qw —

(A) BRSS!
(B) itz fest
(C) et et
(D) <1 Jfet
14. World’s largest mangrove forest is situated in —
(A) Kagiranga
(B) Medinipur
(C) Sundarban
(D) Jalpaiguri
58 | RS AR WiAcare wEel oRtEe —
(A) e
(B) G
(C) e
(D) TAiRefE
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15. Which of the following is an example of Indian local wind blowing during
summer season?

(A) Khamsin
(B) Loo
(C) Taku
(D) Mistral
se| e @I SEice d7ifge 3 SRely Z=w AT SwigRel 7
(A) AR
B)

(C) B
(D) 3w

Page : 9 of 11



P-1 (1+1+1) G /20 (N)
2020
GEOGRAPHY (General)

Paper Code : II - B
(Climatology & Bio-Geography)
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - 1

Answer any fwo questions. 10x2=20

1. Write down in details with suitable diagram about the pressure belts of the earth.
10

2. Discuss the characteristics of any two atmospheric layers over the earth surface.
Distinguish between the concept of weather and climate. 6+4=10

3. Explain in elaborative way about the factors responsible for soil formation, with

appropriate illustration. 10

4. Write notes on insolation and heat budget. 5+5=10
Section - IT

Answer any three questions. 5x3=15

5. What are the impacts of ‘green house effect’ in present world? 5

6. Write a short note on xerophytes. 5

7. Write down the characteristic features of North-Eastern Monsoon of India. 5

8. Shortly discuss the causes and consequences of soil erosion, with suitable
examples. 5
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9. Shortly analysis any two layers of an ideal soil horizon. 5

10. Distinguish between evaporation and condensation. 5
IR
et - &
@ (A ¥ G e Al |
S| Toye iz RS IRpIel el [Rewd we | so
2| FfA ATV @ @A 9 w99 Giffas @Rl et Sicesa
T4 | SRR 8 SRRIET AL foheie 9 | v+8=30

o | & I AZTHN Tomiaaler siE Hapiz [wifrs wram wis | S0

8| FAGNE™ (Insolation) @<k ‘725 AT (Heat Budget) FItF BIFl (7141 So
fqomt - 4
@ e foafb eitaw Tex wis |

€| TEA AT ACCF fa 218 @cFs (Green House Effect)-9d doRafs

ARCFCA (14 | €
Y| ‘CTRARRS” (Xerophytes) it 7:FFe Bl (14 | ¢
q| SlACed Ted-5F TP Ay (North-Eastern Monsoon of India) vifafas

Rt s AR S0 @
b | CHYE SUIRATR GF] TERF PR € Felrelfer FCHCH (519 | @

5| @36 o Jfes AReTd-97 @ (Il 76 TH-97 T0E [owze s91 ¢

So | FRCHC I (Evaporation) € Tted« (Condensation)-Ad < fgmstef
491 @
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UGB P-I (1+1+1) H/ Pr/ 2020 (N)
2020
Geography (G)
Paper I11
(Practical)
(New Syllabus)
Gour Mahavidyalaya

Full Marks: 50 Time: Four Hours

The figures in the margin indicate full marks

Draw a linear scale with 10 km primary division and 5 km on secondary division with the R.F of
1:1000000. 5
. Write a short note on the importance of projected and composite profile. 2+2=4

. What is stream ordering and calculating bifurcation ratio in the following data.  1+4=5

Stream ordering No of stream

15 stream order 357

2" stream order 68

3" stream order 16

4™ stream order 4

5™ stream order 2

6™ stream order 1
. Are Relative Relief and Dissection Index relief aspects? Yes/no. 1
. What is drainage density and describe its significance? 2+2=4
. Why is the transect chart used in Topographical maps? 1

. Draw a cylindrical equal area projection for extension 40°N to 40°S, and 20°W to 60°E at
10° interval ,on a scale of 1:75,000000 15



8. Write a short note on the merits and demerits of the choropleth map. 3+3=6
9. What are the cartographic techniques used to represent land use/cover data? Describe the
importance of chorochromatic map? 2+2=4

10. Laboratory notebook and viva-voce. 5
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